
SpareParts Book Rev. 2.0

Macchina AC

Sezione 1

AC

SerNo PartNo Description Quantity

7 BC 230C‐FF (AC5) FRONT FRAME 1

7,1 BC 230C‐FF (AC7) FRONT FRAME 1

7,2 BC 230C‐FF (AC9) FRONT FRAME 1

8 BC 230C‐FR (AC5) REAR FRAME 1

8,1 BC 230C‐FR (AC7) REAR FRAME 1

8,2 BC 230C‐FR (AC9) REAR FRAME 1

9 BC 230‐LF 3 POINT LINKAGE FRONT 1

10 BC 230‐LR 3 POINT LINKAGE REAR 1

11 BC 230C‐001 (AC5) TYNE 5

Pagina 1 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole



11,1 BC 230C‐001 (AC7) TYNE 7

11,2 BC 230C‐001 (AC9) TYNE 9

12 BC 230C‐002 (AC5) SPRING 10

12,1 BC 230C‐002 (AC7) SPRING 14

12,2 BC 230C‐002 (AC9) SPRING 18

13 BC 230C‐003 (AC5) SHOVEL ‐ TEETH 5

13,1 BC 230C‐003 (AC7) SHOVEL ‐ TEETH 7

13,2 BC 230C‐003 (AC9) SHOVEL ‐ TEETH 9

14 BC 230C‐004 DOUBLE TILLER PIN 2

15 BC 230C‐005 (AC5) U BOLT 5

15,1 BC 230C‐005 (AC7) U BOLT 7

15,2 BC 230C‐005 (AC9) U BOLT 9

16 BC 230C‐006 SPACER PIN WITH TURNING & GRO

17 BC 230C‐007 SPACER PIN WITH GROVE

18 BC 230C‐008 BOLT 5/8 X 2" H.T 4

19 BC 230C‐009 (AC5) BOLT 5/8 X 3.5" H.T 5

19,1 BC 230C‐009 (AC7) BOLT 5/8 X 3.5" H.T 7

19,2 BC 230C‐009 (AC9) BOLT 5/8 X 3.5" H.T 9

20 BC 230C‐010 BOLT 5/8 X 4.5" H.T 1

21 BC 230C‐011 (AC5) NUT 5/8" 10

21,1 BC 230C‐011 (AC7) NUT 5/8" 12

21,2 BC 230C‐011 (AC9) NUT 5/8" 14

22 BC 230C‐012 (AC5) WASHER 5/8" 10

22,1 BC 230C‐012 (AC7) WASHER 5/8" 12

22,2 BC 230C‐012 (AC9) WASHER 5/8" 14

23 BC 230C‐013 (AC5) BOLT 1/2 X 1‐1/4" FULL THREAD 20

23,1 BC 230C‐013 (AC7) BOLT 1/2 X 1‐1/4" FULL THREAD 28

23,2 BC 230C‐013 (AC9) BOLT 1/2 X 1‐1/4" FULL THREAD 36

24 BC 230C‐014 (AC5) NUT 1/2" 20

24,1 BC 230C‐014 (AC7) NUT 1/2" 28

24,2 BC 230C‐014 (AC9) NUT 1/2" 36

25 BC 230C‐015 (AC5) WASHER 1/2" 20

25,1 BC 230C‐015 (AC7) WASHER 1/2" 28

25,2 BC 230C‐015 (AC9) WASHER 1/2" 36

26 BC 230C‐016 (AC5) SHOVEL BOLT 3/8 X 2" 10

26,1 BC 230C‐016 (AC7) SHOVEL BOLT 3/8 X 2" 14

26,2 BC 230C‐016 (AC9) SHOVEL BOLT 3/8 X 2" 18

27 BC 230C‐017 (AC5) NUT 3/8" 10

27,1 BC 230C‐017 (AC7) NUT 3/8" 14

Pagina 2 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole



27,2 BC 230C‐017 (AC9) NUT 3/8" 18

28 BC 230C‐018 (AC5) FRONT TINE ASSEMBLY 2

28,1 BC 230C‐018 (AC7) FRONT TINE ASSEMBLY 3

28,2 BC 230C‐018 (AC9) FRONT TINE ASSEMBLY 4

29 BC 230C‐019 LYNCH PIN (6MM , DIA 45) 2

30 BC 230C‐020 (AC5) REAR TINE ASSEMBLY 2

30,1 BC 230C‐020 (AC7) REAR TINE ASSEMBLY 3

30,2 BC 230C‐020 (AC9) REAR TINE ASSEMBLY 4

31 BC 230C‐021 (AC5) FRONT TINE FRAME LEFT 2

31,1 BC 230C‐021 (AC7) FRONT TINE FRAME LEFT 3

31,2 BC 230C‐021 (AC9) FRONT TINE FRAME LEFT 4

32 BC 230C‐022 (AC5) FRONT TINE FRAME RIGHT 2

32,1 BC 230C‐022 (AC7) FRONT TINE FRAME RIGHT 3

32,2 BC 230C‐022 (AC9) FRONT TINE FRAME RIGHT 4

33 BC 230C‐023 (AC5) REAR TINE FRAME LEFT 3

33,1 BC 230C‐023 (AC7) REAR TINE FRAME LEFT 4

33,2 BC 230C‐023 (AC9) REAR TINE FRAME LEFT 5

34 BC 230C‐024 (AC5) REAR TINE FRAME RIGHT 3

34,1 BC 230C‐024 (AC7) REAR TINE FRAME RIGHT 4

34,2 BC 230C‐024 (AC9) REAR TINE FRAME RIGHT 5

Pagina 3 di 3

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole
 

 
 

 
 

GEO
 m

ac
chi

ne
 ag

ric
ole

    
    

    
    

   G
EO

 m
ac

chi
ne

 ag
ric

ole




